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Vg= +50V Ta=25T")

Vew = 0V +1.0 +7.0 +05 [+7.0 |mv
Vem = 0V 100 200 20 40 nA
Vem = 0V 1000 2000 200 400 nA
R =2k, Vour = £2.5V 60 70 60 70 daB
+3.0/-5 |*x3.5/-5 +3.0/-5 | £3.0/-5 \%
Rs =1k, Viy=-5 +3.0V |64 70 64 70 daB
Rs=1k,Vs = =4 *6V (60 70 60 70 daB
R.= 2k +3.5 +4.0 +3.5 +4.0 \%
R === 2000 3000 400 600 EA
+25 +25 mA
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SW- AMPO2B

(Vg = 5.0V, )

Vem = 0V +15 |*7.0 +15 |£8.0 |mV
Vem = 0V +4.0 |*10 +40 |£10 wVITC
Vem = 0V 150 300 25 50 nA
Vem = 0V 1500 (3000 250 500 nA
R =2k, Vour = £2.5V 55 65 55 65 dB
+3/-5 |+3/-5 +3/-5 | +3/-5 \Y
Rs=1k, Vi = * 3.5V 60 70 60 70 dB
Rs=1k,Vs= *4 *6V |60 70 60 70 dB
R.Z= 2k +35 |*4.0 +35 |*4.0 Y
Ry === 2000 |2200 400 600 LA
+25 +25 mA
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SW- AMPO2B

Vg = 5.0V Ty =250

R.= 2k, G =50pF MHZ
Av=1 25 30 4.0
Av =10 25 30 4.5 MHz
Av=1 8 10 1 2.0 Viks
R, = 2k, C_ = 50pF 10 20 20 |10 %
Av =-1 200 100 ns
fo = 100kHz 100 500 k@
( 0.1%)
fo = 10kHz 15 30 20 30 nv/+[Hz
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